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U.G. 3rd Semester Examination - 2019

ECONOMICS
[HONOURS]
Skill Enhancement Course (SEC)
Course Code : ECOH-SEC-T-1
Statistical Tools for Data Analysis
Full Marks : 40 - Time : 2 Hours
The figures in the right-hand margin indicate marks.
‘ Candidates are required to give their answers in
their own words as far as praéticable.

1. Answer anyﬁ\fequestions: i -_ S S Dx5=10
- Aiofo o Ten e ¢ |
a)  What is Primary data?
e ey T & e
b). - What is Sampling method?
G A Pl @ [F @R
. ¢) What is Frequency Distribution?
At Rerem e & @Rie
d)  What do you understand by Relative Frequency?
wisifes 2Rl Tee & @Rie
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h)

Mention two important properties of Arithmatic
Mean. ‘ 5 '

@fers aicea 7' @W@L‘fhﬁlﬁ@maﬁil
What do you understand by Skewness?
efetaay e & @iy _
What would be the shape of a Lepto-kurtic

Frequency curve?
@I AR @ EUBRITT 26 o W
EEkEGH : s ‘

: Find the median of the following numbers:

33,86, 68, 32, 80, 48, 70, 64.

fasfefe i e s e 9 ¢

0o, b, Ubr, O], b0, 8b, 40, U8

" Explain Fisher's Ideal Formula For Index

number.
Fisher-43 S 35 FiR1°q 41elifb 711 331

2.  Answer any two questions: 5x2=10
@I 4o Aeds Ted wie ¢

a)

383/Eco.

What is meant by 'Tabulation'? Explain its
importance in statistics. o g

- u R’ @S [ @R e ARPRUIE 3R

SFY S5 39 |
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'b) Draw the cumulative ﬁ'eciuency diagram (both

less than and more than types) of the following

frequency distribution:

[ Daily wages [200-209]210-219[220-229[230-239]240-249]250-259

(Rs.) : 2 :

No. of W20 D e s 3

1 workers : :
Find the Median monthly wages for all 100
- workers. 4+1=5
e afieia Reras @waie sk
@ (Sl 9 '€ oMl (FA ToY AFTT) SEA
T2 : ' \

e g 200-303 [330-333 [R30-335 | 00-305[380-385 | 1¢0-3ED

(5r=e1)

i A1 o | R0 3 30 ¢ ©
soo & R A TG 2w Rerem fd
39| :

10 =
¢) i) I (x-10)=20 findAM.x.
: ; i=1 :
: : 3+2=5
10
- afe Y, (x,-10)=20 =3, A@fiF e
i=]
Refm =11
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|ii) Prove that for first 'n' positive integers
- variance is (n*-1)/12. :
251e 9 (@ 49 'n' RSP LIS T Y™
oA 2 (-1)/121
¢) " Find the trend equation of the following data

using the method of least squares. From this
result find the trend values for different years:

Ay

| 5+5
u Year: 1971 [1972 [1973 | 1974 |1975
[ Production | 10 | 12 {8 10 | 14
("000 tonns):

| | ﬁﬁﬁﬁ@@%maﬁ%ﬁﬂmﬁﬁm
mﬁﬁmmnﬁw;wﬁmwm

| - amfadfr e

? @A ¢ S3as [5nal [Saae [d>aa8 [384¢

1 ,

, T COARTEREE S
(’o00 BTH) ¢

d) Find the Mean and Median for the following
frequency distribution of weight's (in kg) of 200

persons: 6+4
.} Weight of: persons 125-134 | 135-144 | 145-154 155-164
? ' No. of .pe_rsons 10 24 36 50
i
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